
The sword 
is below 
the castle.

The dragon 
is below 
the castle.

The wand 
is above 
the castle.

The dragon 
is above 
the castle.

The crown 
is above 
the castle.

The crown 
is below 
the castle.

The wand 
is below 
the castle.

The sword 
is above 
the castle.
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The sword 
is below 
the knight.

The dragon 
is below 
the knight.

The wand 
is above 
the knight.

The dragon 
is above 
the knight.

The crown 
is above 
the knight.

The crown 
is below 
the knight.

The wand 
is below 
the knight.

The sword 
is above 
the knight.
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The princess 
is holding a 
frog.

The princess 
is holding a 
dragon.

The princess 
is wearing a 
hat.

The princess 
is wearing a 
dragon.

The princess 
is wearing a 
wand.

The princess 
is holding a 
wand.

The princess 
is holding a 
hat.

The princess 
is wearing a 
frog.
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The prince 
is holding 
a frog.

The prince 
is holding 
a dragon.

The prince 
is wearing 
a hat.

The prince 
is wearing 
a dragon.

The prince 
is wearing 
a wand.

The prince 
is holding 
a wand.

The prince 
is holding 
a hat.

The prince 
is wearing 
a frog.
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